
which one of the following pairs of measuerments are equivalent 

A. 24 kL equal to 240 L 

By definition: 

             

Therefore: 

                         

And finally: 

               

Answer:  not equivalent 

 

B. 380 equal to 3.80 x 10 ^4 

               

Therefore: 

           

Answer:  not equivalent 

 

C. 247 nm equal to 2.47 x 10 ^-5 

By definition: 

             

Therefore: 

                                            

And finally: 

                     

Answer:  not equivalent 
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